Class VIII Chapter 14 - Factorisation

Mathematics

Exercise 14.1

Question 1;
Find the common factors of the terms
(i) 12x, 36
(ii) 2y, 22xy
(iii) 14pq, 28p=qz
(iv) 2x, 3x2, 4
(v) 6abc, 24abz, 12azb
(vi) 16xs, —4x2, 32X
{vii) 10pqg, 20gr, 30rp
(viii) 3xzyz, 10xayz, 6Xzy2z

Answer:

(iY12x =2 x 2 x 3 x X
36 =2 %x2x3x%x3
The common factors are 2, 2, 3.
And, 2 x 2 x 3 =12
(i2y =2 xy
22xy =2 x 11l xx x y
The common factors are 2, y.
And, 2 x y = 2y
(ildpg=2x7 xp x q
28pzqz = 2 x 2 X7 xpxpxqx(g
The common factors are 2, 7, p, 4.
And, 2 x 7 x p x g = 14pq
(iv) 2x =2 x x
3xz =3 X X X X
4=2x2
The comman factor is 1.
(v)babc=2x3 xaxbxc

24abz =2 x 2 x2x3xaxbxb
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12asb =2 x2x3xaxaxb
The common factors are 2, 3, a, b.
And, 2 x 3 xaxb=6ab
(vi)16xs =2 x 2 x 2 X2 X X X X X X
—dxo = -1 x 2 x2xXxX

32X =2 x2x2x2x2xX

The common factors are 2, 2, x.
And, 2 x 2 x X =4x
(vii)10pg =2 x5 xp xq
20gr=2x2x5xqgxr
0p=2x3x5xrxp

The common factors are 2, 5.

And, 2 x 5 =10

(viil) 3xey3 =3 X X X X Xy Xy X ¥

10x3y2 =2 X S X XX XXX XY XY

BX2y2Z2 = 2 X I X X X X XY XY X Z
The common factors are X, x, v, V.
And,

XX X XY XY =Xayz

Question 2:

Factorise the following expressions

(i) 7x — 42
(i) 6p — 12q
(iii) 7az + 14a

(iv) =16z + 20z

(v) 20lam + 30 alm

{vi) S5xzy — 15xy2

(vii) 10az — 15bz + 20cz
{(viii) —4az2 + 4ab — 4 ca

(ix) xeyz + xyzz + xyzo
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(x) axzy + bxys + cxyz

Answer:

(i 7x =7 x x

42 =2 x 3 x7
The comman factor is 7.

STX 42 =(7xx) - (2x3x7)y=7(x—-6)
(ibp=2x3 xp

12g=2x2x3 xqg
The common factors are 2 and 3.

SBp —120=(2x3xp)-(2x2x3xq)
=2x3[p-(2xaq)]

=6(p - 2q)

(ii7az =7 xa x a

lda=2x7 x a

The common factors are 7 and a.
s7az+1da=(7xaxa)+(2 x7 xa)
=7xala+2]=7a(a+2)
(ivi16z=2x2x2x2 xz2
20zz=2x%x2x5%xzxzx%xz

The common factors are 2, 2, and z.

L1624+ 20z = - (2 x2x2x2x2)+(2x2x5xzZx2Zx2Z)

=(2x2x2)[-(2x2)+(5%xzx2z)]
=4z (— 4 + 5z2)

(V) 20bkm =2 x2 x5 x| x|xm
30alim=2x3x5xax|xm

The common factors are 2, 5, |, and m.

s 20lz2m+ 30aim=(2 x 2 x5xIxIxm)+(2x3x5xaxlxm

=(2x5xIxm)[(2x])+(3xa)]
= 10Im (21 + 3a)

(vi) Sxay =5 x x x x Xy
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1I5xy2 =3 X 5 x XXy xy

The common factors are 5, x, and vy.

S5xey —15xyz = (O Xx X xxxy)—(3X5%x XXy XYy)

=5 xXxxy[x—-(3xy)]

= 5xy (x — 3y)

(vi)10az =2 x5xaxa

15b2 =3 x5 xbxb

20cc=2x2x5x%xcxc

The common factor is 5.

10az — 15bz + 20z =(2x 5xaxa) - (3x5xbxb)+(2x2x5xcxc)
=5[(2xaxa)-(3xbxb)+(2x2xcxc)]

= 5 (2az — 3bz + 4c2)

(vii)daz =2 x 2 xaxa

dab=2x2xaxb

dca=2x2xcxa

The common factors are 2, 2, and a.
s—daz+dab-4dca=-(2x2xaxa)+(2x2xaxb)-(2x2xcxa)
=2x2xal[-(a)+b-c]

=4a(-a+b-xc)

(iX) XoyZ =X X X Xy X Z

XY2Z = X X ¥ X Y X Z

XYZz2 = X XY X Z X Z

The common factors are x, y, and z.

LKYZ A XY2Z A XyZe = (X XX XYy XZ)+{(Xxyxyxz)+(xxXyxzxz)
=XXYyXZ[X+Yy+2zZ]

=xyz{(x+y+2z)

(X)axzy =a X X X X X ¥

bxyz =b xxxyxy

CXYZ=CX X XY X Z

The common factors are x and y.
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axzy + bxyz +cxyz=(axxxxxy)+(bxxxyxyl+(cxxxyxz)
=(xxy)[(axx)+(bxy)+(cxz)]

= xy (ax + by + cz)

Question 3:

Factorise

(i) x2 + xy + 8x + 8y

(ii) 15xy — 6% + 5y — 2

(iii) ax + bx — ay — by

(iv) 15pg + 15 + 9g + 25p

(v z— 7 + 7xy — xyz

Answer:

(VX2 +xy +8Xx +8y =xxX+xXxxy+8xx+8xy
=x(x+vy)+8{x+vy)

=(x+vy)(x+8)

(i) 15xy — 6Xx + 5y — 2 =3 x5 x Xxxy -3 x2xx+5xy—-2
3x(5y —2) +1(5vy - 2)

(5y —2)(3x + 1)

(iiax +bx —ay—by=axx+bxx—-axy-bxy
x{(a+b)-y(a+Db)

(a+b)(x-y)

(iv) 15pg + 15 + 9g + 25p = 15pg + 99 + 25p + 15

=3x5x p xq +3x3x q +5x5x p +3x5
=3q(5p+3)+5(5p +3)

=(5p +3) (39 +5)

(WV)z—-74+7Xy —Xyz=Z-XxyxzZ-—-74+7XXxY
z(1-xy)-7(1-xy)

(1-xy)(z-7)

Page 5 of 20

Website: www. mentorminutes.com Email: contact@mentorminutes.com



Class VIII Chapter 14 - Factorisation

Mathematics

Exercise 14.2

Question 1;
Factorise the following expressions.
(iyaz + Ba + 16
{ii) pz — 10p + 25
(iii) 25mz2 + 30m + 9
(iv) 49y2 + 84yz + 36z
(V) dx= - 8x + 4
(vi) 121bz — 88bc + 16c
{vii) {I + m)z — 4lm (Hint: Expand {I + m)z first)
(viii) a4 + 2azbz + b4

Answer:
(az+8Ba+16=(a)z+2xax4d+({4):
=(a+4)2[(x+y)e=x+ 2xy + yz]
(ip2—10p+ 25 =(pl2—-2%xpx5+(5)
=(p - 5)2[(a - b)z =az - 2ab + b2]
(i) 25m2 + 30m + 9 =(5m)z + 2 x 5m x 3 + (3)2
=(5m + 3)z[(a + b)2 = az + 2ab + bz]
(iv) 49y2 + B4yz + 36z2 = (7y)2 + 2 x (7y) x (6z) + (62)2
=(7y + 6z)2[(a + b)z = az + 2ab + bz]
(V) dxz — 8x+4=(2x)2—-2(2x)(2) +(2):
=(2x — 2)2[{(a — b)2 = az — 2ab + bz]
=[(2) (x = 1)]2 = 4(x = 1)
(vi) 121bz — 88bc + 16cz = (11b)z — 2 (11b) (4c) + (4c)2
= (11b - 4c¢)z [(a — b)z = az — 2ab + bz]
(vid{l + mlz —4lm =1lz2 + 2lm + mz — 4Im
=z = 2lm + mz
=(l —m)z[(a —b)2=az - 2ab + bz]
{(viii) a4 + 2azb2 + ba = (az2)z + 2 (az) (b2) + (b2)z2
= (az + b2)2 [(a + b)z = az + 2ab + bz]
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Question 2:

Factorise
(i) 4p2 — 9q2
(ii) 63a> — 112bo
(iii) 49%x= — 36
(iv) 16xs5 — 144xz
(V) (I + m)2 = (I - m)z
(vi) 9%eyz — 16
(vii) (x2 — 2xy + y2) — 22
{viii} 25az — 4b2 + 28bc — 49c2
Answer:
(i) 4pz — 992 = (2p)z — (39)2
= (2p + 39) (2p - 3q) [az — b2 = (a — b) (a + b)]
(ii) 63a> — 112bz = 7(9az — 16b2)
= 7[(3a)z - (4b)e]
= 7(3a + 4b) (3a — 4b) [az — bz = (a — b) (a + b)]
(iii) 49%2 — 36 = (7x)2 — (6)2
=(7x=-6)(7x +6)[az —bz=(a—-Db) (a +b)]
(iv) 16xs5 — 144xs = 16x3(xz — 9)
= 16 xs [(x)2 — (3)2]
=16 x3(x —3)(x +3)[az —bz2=(a - b)(a +b)]

(V(+mez=((=-mz=[0+m)=00-=m)][0+m)+ (- mj]

[Using identity az — b2 = (a — b) (a + b)]
=(l+m-1+m{+m+!-m)

=2m x 2|

= 4ml

= 4Im

(vi) Ixzyz — 16 = (3xy)z — (4)2

=(3xy —4)(3xy + 4) [az — b2 =(a - b) (a + b)]

(vii) (x2 — 2xy + y2) —z2 = (x —y)z — (2)2 [{(a — b)z = az — 2ab + bz]

Page 7 of 20

Website: www. mentorminutes.com Email: contact@mentorminutes.com



Class VIII Chapter 14 - Factorisation Mathematics

=(x-y-2)(x-y+2)[as - b>=(a-b)(a+b)]
(viii) 25az — 4bz + 28bc — 492 = 25a2 — (4bz — 28bc + 49¢2)
= (5a)2 — [(2b)2 — 2 x 2b x 7c + (7c)z]
= (5a)2 - [(2b - 7c)2]
[Using identity (a — b)z = az — 2ab + bz]
=[5a + (2b — 7¢)] [5a — (2b — 7¢)]
[Using identity az — bz = (a — b) (@ + b)]
= (5a + 2b - 7¢) (5a — 2b + 7¢)
Question 3:
Factorise the expressions
(i) axz2 + bx
(i) 7pz + 21q2
(i) 2x3 + 2xy2 + 2xz2
(iv) amz + bmz + bnz + anz
Mm+Dh+m+1
(viJy(y +2) + 9(y + 2)
{vii) by2 — 20y — Bz + 2yz
{viii) 10ab + 4a + 5b + 2
(ix) bxy — 4y + 6 — 9x
Answer:
(Yaxe +bx=a xx xx+ b x x =x(ax +b)
(i07pz2+21q2=7%xpxp+3 x7xqxq=7(pz+ 3q2)
(iii) 2%z + 2xy2 + 2x22 = 2X{(X2 + y2 + Z2)

(iv)amz + bmz + bnz + anz = amz + bmz + anz + bnz

mz(a + b) + nz{a + b)

(a +b)(mz2+ n2)
M(m+D+m+1=m+m+1+1
=m(l +1)+ 1(1 + 1)

=({+1)({m+1)
(vjy(y+z2)+9(y+2)=(y+2)(y +9)
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{vii) 5y2 — 20y — 8Bz + 2yz = 5y2 — 20y + 2yz — 8z
=5y(y —4) + 2z(y - 4)
=(y — 4) (5y + 22)
{viiiy 10ab + 4a + 5b + 2 =10ab + 5b + 4a + 2
=5b{2a + 1) + 2(2a + 1)
=(2a+ 1) (5b + 2)
(ix)bxy —4dy + 6 —9x =6xy — 9x —4dy + 6
= 3x(2y — 3) - 2(2y — 3)
=(2y - 3)(3x - 2)
Question 4:
Factorise
(i) a4 — ba
(ii) pa — 81
(iiy xa = {y + 2)a
(iv) Xxa — (x — 2)4
{v) a4« — 2azb2 + b4
Answer:
(i) @« — ba = (az)2 — (b2)2
= (az — b2) (a2 + b2)
=(a —b)(a + b) (az + bz)
(i) pa = 81 = (p2)2 = (9)2
= (pz = 9) (pz + 9)
= [(p)2 = (3)2] (p2 + 9)
=(P-3)(p+3)(pz+9)
(i) x4 = (y + 2)a = (x2)2 = [(y +2)2]2
=[xz = (y + 2)2] [x2 + (y + 2)2]
=[x-(+2l[x+{y+2)][x +(y + 2)2]
=(x-y-2)(x+y+2z)[x2+(y+z)]
(iv) xa = (x = 2)a = (x2)2 = [(x = 2)2]2

=[xz — (x — 2)2] [%2 + (x — 2)2]
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=[x - (x = D] [x + (x = 2)] [x + (x - 2)]
=z2(2%x — ) [X2 + X2 — 2XxZ + 2]
=z(2x — ) (2x2 — 2%z + z2)
(v) as — 2azbz + ba = (a2): — 2 (az) (b2) + (ba):
= (az — bz2)z2
=[{a - b) (a + b))z
=(a-b)(a+ bk
Question 5:
Factorise the following expressions
(iypz + 6p + 8
{ii) gz — 10q + 21
{iii) pz + 6p - 16
Answer:
(Yp=+6p+8
It can be observed that, 8 =4 x 2and4 +2 =6
Spz+b6p+8=p2+2p+4p + 8
=plp+2)+4(p+2)
=(p+2)(p+4)
(ii) gz = 10q + 21

It can be observed that, 21 = (=7) x (=3) and (-7) + (=3) = — 10

LqQz—-10g+21=qg2-79—-39 + 21
=q(g-7)-3(g-7)

=(g-7)(q-3)

(iii) p= + 6p — 16

It can be observed that, 16 =(-2) x8and 8 + (-2) =6
pz +6p —16 =pz + 8p — 2p — 16

=p(p +8)-2(p +8)

=(p+8)(p-2)

Page 10 of 20

Website: www.mentorminutes.com Email: contact@mentorminutes.com



Class VIII Chapter 14 - Factorisation

Mathematics

Exercise 14.3

Question 1;
Carry out the following divisions.
(i) 28xa + 56x%
(ii) —36yz + 9y2
(iii) 66pqzrz =+ 11qrz
(iv) 34xsyszs + 51lxyzzs
(v) 12asbs = (—6asba)

Answer:

(i)28xa =2 x 2 X7 X XX X XX XX

S56x =2 x 2 x 2 x7 xX

-y - . . N . 3

. 2H2xTHXXXKXAX X |

28x" £ 36x = = =—x
2x2x2xTxx 2

LR

(i)36y: =2 x2x3X3XYyXyxXy
Qyo =3 x 3 xyxy

e D T S T , .

s s —2x2=3x3xpxyx)

=36)" +9y" = - ——==—4y
3x3xyxy

(i)66paers=2x3x 1l xpxgxgxXrxrxr
ligrze =1l xgxrxr

2x3xlluprgrgrrar=r

E:ﬁ;;cl.r:.rﬂ' +1 ]:].rr: = =6 pgr

s g e e

(iv) 34 Xayszz = 2 X 17 X X X X X XX Y XY XY XZXZXZ

51 Xy2zz3 = 3 X17 X X X Yy XY XZX ZX Z

s 1 2xITHXX XA XK VAR PR YR IR

Jx vz =5l xyz -
3l TH XX VR VR IHI®KE

-2

==xy
3

(v) 12asbs = 2 x 2 x 3 %X as x bs

b6acba =2 x 3 x as x bs
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I & #

- B 2x2x3xa xbh

12a"h" { lh::.’)‘} = T
' ' —2x3xa =6 = _2a3:b4

Question 2:
Divide the given polynomial by the given monomial.
(i) (5%2 — 6%) + 3x
(ii) (3ys — 4ys + 5y4) + ya
(iii) 8(xayzzz + Xoyszz + Xoyzzs) + 4xXeyeze
(iv) (X3 + 2x2 + 3x) =+ 2x
(v) (pegs — peqge) + pags
Answer:
(i) 5x2 — 6x = x(5x — 6)
{ Sx° l.‘u.‘r} +3x = 1“;; %) = _]?.{' S5x-6)
(ii) 3ys — 4ys + S5ya = ya(3ys — 4y2 + 5)
v {E_L'4 — 4y +5)

A

(3y" —dy"+5y")+y' = =3y' —4)* +5

4
.‘-

(iii) 8(xsyzzz + Xzy3Z2 + Xoy2z3) = Bxayaze(X +y + Z)

B(x'y 24Xy 2t 4 a7y ) dxty it =

. 5.1'3_1'::: [.r +_1'+.'}

4.1':_1':::

(V) xs + 2%x2 + 3x =x{X=2 + 2x + 3)

_ i x(xF+2x+3)
{:J."‘+2r'+3_r)+3_1'= { )z—{.1‘+2_r+ 1}
' 2x 20
(V) page— peds = psqs(qs — ps)

3 & 61 13 j;'1lj|’:{l:f:_p!).ll 1 1
(pg —pqgl+pg = 33 =q -p

g

Question 3:

Work out the following divisions.

(i) (10x — 25) + 5

=2(x+y+z)
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(ii) (10x — 25) = (2x - 5)

(iii) 10y(6y + 21) + 5(2vy + 7)

(iv) 9xzy2(3z — 24) = 27xy(z — 8)

(v) 96abc(3a — 12)(5b — 30) = 144(a — 4) (b - 6)

Answer:

2xS5xx=5x5 5(2

(10x—25)+5 = . I
QM ' 5 5

_5}

=2x-5

2xS5xx-5x5 5[:1.1(—5]

(10x-25)+(2x—5) = =272 _
(i (2x-5) 2x—35

Ln

2% 5% y[2x 3% p+3x 7]

10y(6p+21)+5(2y+7) =

(i) 5(2v+7)
Fx iy '
_ w0 xl1>f?{2ll+?}:ﬁ-r
5(2y+7)
.. '5}_1':1"3[33-6.:—2:-523:«2;-(3]
97y (32-24)+27xp (2 -8) =
(i) 27xv(z-8)
:_1:1'x3{:—3l:|=r1?
3{:—8] '

(v) 96 abc(3a — 12) (5b — 30) + 144 (a — 4) (b — 6)
 96abc(3xa—3x4)(5xb—-2x3x5)
144 (a—4)(b—6)
2abcx3(a=4)x5(h=0)

= — = 10abc
Ja—-4)(h-06)

Question 4;

Divide as directed.

(D 5(2x + 1) (3x +5) +(2x + 1)

(i) 26xy(x + 5) (y — 4) = 13x(y — 4)

(i) 52par (p + g) (9 + r) (r + p) + 104pg(q + r) (r + p)
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(iv) 20(y + 4) (y2 + 5y + 3) = 5(y + 4)
WMxx+1Dx+2)x+3)=x(x+1)

Answer:

5{21""l){}_\'—-—:’y}+{jl.__1}= 5{21‘+|}{3T+ |}|
(i) (241} _ g5y 4 1)
2x13xxp(x+5)(y—4)

13.1‘{.1'—4}

26y (x +5]{_1‘— 4) =1 3x(y— 4} _
(ii)
(iii) 52par (p + q) (g + 1) (r + p) + 104pg (q + 1) (r + p)

=2y (x +5)

Exlxle;qux;'x{p lq]x{q f f'}x(.r' i ;}]
2x2x2x13% prgx(gq+r)=(r+p)

= 1;‘(;} Fq )

(iv) 20y + 4) (y2 + 5y + 3) =2 x 2 x 5 x (y + 4) (y2 + 5y + 3)
2x2x5x(y+ 4}x(_1':+5_1'+ 3}
Sx{y+4)

= 4{.1'3 +5y+3)

200y +4)(»" +5v+3)+5(y+4) =

x|x+ l}[.x‘+2}{.1‘+3}
x(x+1)

afx+ 1)+ 2]{.&'+3}—:_r(_1;+1}=
(v)
=(x+2)(x+3)

Question 5;

Factorise the expressions and divide them as directed.
(i) (y2+ 7y +10) + (y +5)

(i) (mz — 14m - 32) = (m + 2)

(iii) (S5pz — 25p + 20) + (p - 1)

(iv) dyz(zz + 6z — 16) + 2y(z + 8)

(v) 5pa(pz = q2) + 2p(p + q)

(vi) 12xy(9x%z — 16yz2) + 4xy(3x + 4y)

{(vii) 39ys(50y2 — 98) + 26yz(5y + 7)
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Answer:

(D (y2+ 7y + 10) =y=2 + 2y + 5y + 10
=y(y+2)+5(y+2)
=(y+2)(y +5)

[_1.'——5}{.1'+2} -

[_1"+'.-'_'|'+|ﬂ_:|+l:_1'+5}= {Il'-l—.“"l)

y+2

(iiymz=-—14m - 32 =mz+ 2m — 16m — 32
=m{m+2)—-16{(m + 2)
=(m+ 2)(m - 16)

(m+2)(m—16)

=m~-16
f_m+2}

Iim: — 1 4m-32 ] + (r;r.'r + 2} =

(iii) 5pz — 25p + 20 = 5(pz — 5p + 4)
=5[pz — p —4p + 4]

= 5[p(p -1) - 4(p -1)]
=5(p-1)(p - 4)

s(p-1)(p-4)
(p-1)

(iv) dyz(zz + 6z —16) = dyz [z2 — 2z + 8z — 16]

= dyz [z(z — 2) + 8(z - 2)]

=4yz(z - 2)(z + 8)

(5p°—25p+20)+(p-1) =5(p-4)

dyz(z7 +62-16)+2y(z+8) = e EE::-Z:-E;R}

(v) 5pa(pz —gz) =5pg (p - q) (p +q)

spalp-q)(p+q) 5

Sr g )= 2pl( =
h‘.',r.fl.r{‘r: q) ;J(,.',r+q]j 3,.'?{,I'J+£Jr]|

Mathematics

= 3:1::—

_;ff(ﬁ‘—ff}

(vi) 12xy(9%2 — 16yz2) = 12xy[(3x)2 — (4y)2] = 12xy(3x — 4y) (3x + 4y)
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o 2% 2% 3% xx yx (35— 4y)x (3 + 4y
120 (9x7 ~ 1637 )+ day (B + dy) = 2 22y (3r—4y)x (3x+ 4y)
' ' ' ' 2% 2x xx yx(3x+4y)

=3(3x-4y)

(vii) 39y3(50y2 — 98) =3 x 13 x y x y x y x 2[(25y2 — 49)]

=3x 13 x2xyxyxyx[(5y)z—-(7)]

=3x13x2xyxyxy(5y-7)(5y+7)

26y2(5y + /) =2 x 13 xy xy x (5y + 7)

39ys3(50yz — 98) =26y2 (5y + 7)

Question 3:

Find and correct the errors in the statement: 2x + 3y = 5xy
Answer:

L.H.S = 2x + 3y # R.H.S.

The correct statement is 2x + 3y = 2x + 3y

Question 4:

Find and correct the errors in the statement: x + 2x + 3x = 5x
Answer:

LHS=x+2x +3x=1x+ 2x + 3x =x(1 + 2 + 3) = 6x # R.H.S.

The correct statement is x + 2x + 3x = 6x

Question 5;

Find and correct the errors in the statement: 5y + 2y + y — 7y = 0
Answer:

LHS. =5y +2y+y -7y =8y — 7y =y £ RHS

The correct statement is Sy + 2y +y — 7y =y

Question 6:

Find and correct the errors in the statement: 3x + 2x = 5x
Answer:

L.H.S. = 3x + 2x = 5x # R.H.S

The correct statement is 3x + 2x = 5x

Question 7;

Find and correct the errors in the statement: (2x)z + 4(2x) + 7 = 2x2 + 8x + 7
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Answer:

LH.S = (2x)2 + 4(2x) + 7 = 4x2 + 8x + 7 # R.H.S

The correct statement is (2x)z + 4{2x) + 7 = 4x2 + 8x + 7

Question B:

Find and correct the errors in the statement: (2x)2 + 5x = 4x + 5x = 9x
Answer:

L.H.S = (2x)2 + 5x = 4x2 + 5x # R.H.S.

The correct statement is (2x)z + 5x = 4xz + 5x

Question 9:

Find and correct the errors in the statement: (3x + 2)2 = 3x2 + 6x + 4
Answer:

LH.S. = (3x + 2)2 = (3x)2 + 2(3x)(2) + (2)2 [(a + b)z = az + 2ab + bz]

=9x2 + 12x + 4 # R.H.S

The correct statement is (3x + 2)2 = 9%z + 12x + 4

Question 10;

Find and correct the errors in the following mathematical statement. Substituting x =

=-31in

(@) X2 + 5x + 4 gives(-3)2+5(-3)+4=9+2+4 =15

(by x2 - 5x + 4gives (-3)2-5(-3)+4=9-15+4= -2

() xz2 + 5xgives(-3)2 +5(-3) = -9 - 15 = -24
Answer:

(a) Forx = -3,

X2 +5x+4=(-3)24+5(-3)+4=9-15+4=13 - 15= =2

(b) For x = -3,

X2 = 5Xx+4=(-3)2-5(-3)+4=9+15+4=28

{(c) For x = -3,

X2 +5x =(-3)24+5(-3)=9-15= -6

Question 11;

Find and correct the errors in the statement: (y — 3)2 = yz - 9

Answer:
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LH.S =(y = 3)2 = (y)2 = 2(y)(3) + (3)2 [(a = b)z = az = 2ab + b2]

=yz — 6y +9 #RH.S

The correct statement is(y — 3)2 = y2 — 6y + 9

Question 12:

Find and correct the errors in the statement: (z + 5)2 = zz + 25
Answer:

LH.S =(z + 5)2 = (2)2 + 2(2)(5) + (5)2 [(a + b)z = az + 2ab + bz]

=z2+ 10z + 25 # R.H.S

The correct statement is (z + 5)z = z2 + 10z + 25

Question 13:

Find and correct the errors in the statement: (2a + 3b) (a — b) = 2az — 3b2
Answer:

LHS. ={2a+3b)(a-b)=2axa+3bxa-2axb-3bxb

= 2az + 3ab — 2ab - 3bz = 2az + ab - 3bz # R.H.S.

The correct statement is (2a + 3b) (a — b) = 2az + ab — 3b2

Question 14;

Find and correct the errors in the statement: (a + 4) (a + 2) = az + 8
Answer:

LHS. ={a+4)(a+2)=(ax+(4+2)(a) +4x2

=az+ 6a + 8% RH.S

The correct statementis{(a + 4){(a + 2) = az + 6a + 8

Question 15;

Find and correct the errors in the statement: (a — 4) (a — 2) = az — 8
Answer:

LHS. =(a-4)(a-2)=(@k+[(-H+ (-] @)+ (-4 (- 2)

=az—6a + 8 # R.H.S5.

The correct statementis{(a — 4){(a — 2) =az — 6a + 8

Question 16:

Find and correct the errors in the statement: ax
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Answer:

Ix B Jmxmx

— == =1=RHS.
LLH.S = aXx dH XK X
3x
- = |-
The correct statement is dx

Question 17:

Find and correct the errors in the statement:

Answer:

3Ix"+1  3x° l l
—=—+—=1+—==R.H.S,
3 3xT 3x Jx
3x +1 |
- = 1 + - T

The correct statement is Jx° X
Question 18;

Find and correct the errors in the statement:

Answer:

Y ARHS.

The correct statement is Jx+2 3x+2
Question 19;

Find and correct the errors in the statement:

Answer:

3
LH.S. = 4x+3 £ R.H.S.

vt +1
— =1+
dx”
Jr 1
Jx+2 2
N
dx+3 4x
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303
The correct statement is 4x+3 4x+3
Question 20;
dx+5 _s
Find and correct the errors in the statement: 4x
Answer:
4x+5 4dx 5 5
=t — =] +—z R.H.S
LH.S. = dx 4y 4x 4x
dx+5 5

=14+—
The correct statement is 4x 4x
Question 21:

Tx 45 _
Find and correct the errors in the statement: 5
Answer:
Tx+5 Tx 5§ Tx
=t == 1= HH-."J
L.H.S. = 5 2 3 a
Tx+5 Tx

= —]

The correct statement is 5 3

Tx
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